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Question 1
Question Type: MultipleChoice

Which of the following best describes an optimized state of operational processes, as related to the Operational Risk Management

solution?

Options: 
A- Compliance efforts are reactive and just-in-time

B- Resilient strategies adapt quickly to threats and disruptions

C- Each control deficiency identified in loss event analyses and self-assessments is addressed

D- Risk assessments and reporting are limited and inconsistent

Answer: 
A

Question 2
Question Type: MultipleChoice



If an organization had an XML file from a single, consistent location to import monthly, which of the following would you recommend?

Options: 
A- Data Transformation Manager

B- Data Import Manager

C- Data Retrieval Manager

D- Data Feed Manager

Answer: 
A

Question 3
Question Type: MultipleChoice

Which of the following steps would be the best approach for temporarily stopping a subscription notification from sending email

notifications?



Options: 
A- Delete the subscription notification

B- Inactivate the subscription notification

C- Delete the application associated with the subscription notification

D- Disable notifications for the application associated with the subscription notification

Answer: 
B

Question 4
Question Type: MultipleChoice

Which of the following are the page-level privileges that can be granted to a user/group through an Access Role?

Options: 
A- Create, Access, Modify, Delete



B- Build, Read, Update, Delete

C- Create, Read, Update, Delete

D- Build, Access, Modify, Delete

Answer: 
D

Question 5
Question Type: MultipleChoice

Which Apply Conditional Layout item takes highest priority of all others at the Field Level within Conflict Resolution?

Options: 
A- Read Only

B- Required

C- Display

D- Use Default Settings



Answer: 
C

Question 6
Question Type: MultipleChoice

What is the default selection for a global report's access when the report is initially saved?

Options: 
A- Everyone

B- Global Report Creator

C- Solution Administrator

D- There is no default selection for global reports

Answer: 
A



Question 7
Question Type: MultipleChoice

Which of the following best describes RSA Archer?

Options: 
A- RSA Archer is a platform which allows you to adapt solutions to specific requirements and build new applications without touching

code

B- RSA Archer is a software solution which requires you to hard code changes to out-of-the-box solution functionality

C- RSA Archer is a platform which allows you to adapt solutions by hard coding new features into the program

D- RSA Archer is a software solution best used for Audit and Operational Risk Management

Answer: 
D

Question 8
Question Type: MultipleChoice



In what way can Issues Management act as a foundation for other Archer solutions?

Options: 
A- Baseline issues provide a basic understanding of business and IT infrastructure

B- Issues logged by a variety of groups provide a partial inventory of software applications, acting as a foundation for other inventories

C- Issues generated by several groups can be handled in Issues Management, including audit and risk and compliance

D- Issues Management helps to decentralize risk at a high level

Answer: 
D
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